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data3a.csv 0 CSV (comma

goooo
data frame d 00O O

separated value) format file 0 0 0 O

>d
ROODDOODOOOOOODOOOO:
y x f
1 6 8.31 C
2 6 9.44 C
> d <- read.csv("data3a.csv")
3 6 9.50 C
000040000000 data -..oooo...
99 7 10.86 T

frame (0 O00OO0OD0O)000OO

100 9 9.97 T
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> d$f
[1]
[26]
[51]
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Levels:
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data frame [0 summary ()

> summary (d)
y X £

: 2.00 .190 C:50
1st Qu.: 1st Qu.: 9.428 T:50
:10.155
:10.089
:10.685
:12.400

Min.
6.00
: 8.00
: 7.83
3rd Qu.:10.00

Median Median
Mean

3rd Qu.

Mean

Max. :15.00 Max.
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dataframed 0000O: OOOOOOO
> d$x
[1] 8.31 9.44 9.50 9.07 10.16 8.32 10.61 10.06
[9] 9.93 10.43 10.36 10.15 10.92 8.85 9.42 11.11
...0o0oo...
[97] 8.52 10.24 10.86 9.97
> d$y
[11 6 6 61210 4 9 9 911 610 6 10 11 8
[171 3 8 5 5 411 510 6 6 7 9 310 2 9
...0ooo...
971 6 8 7 9
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> class(d) # d O data.frame OO0

[1] "data.frame"

> class(d$y) # y OO0OOO0O0O integer OO 0O

[1] "integer"

> class(d$x) # x U0 OODOODOOO numeric OODO
[1] "numeric"

> class(d$f) # OO0 f OO factor OOO

[1]

"factor"
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> plot(d$x, d$y, pch = c(21, 19) [d$£f])
> legend("topleft", legend = c("C", "T"), pch = c(21, 19))
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(00) 0000000  rbinom()  glm(family = binomial)
oooo rbinom() glm(family = binomial)
oooooo rpois() glm(family = poisson)
oooooo robinom() glm.nb() in library(MASS)
(0D0) Ooooo rgamma()  glm(family = gamma)
oooo rnorm() glm(family = gaussian)
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Fit)<- (glm) RN DIEE
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family = poission(link = "log"),
data = d
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data. frane oigE Y ¥ 7BBOEE (G
e 000 (DUOUDO 2):0000DQUODODO?
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> summary (fit)
Call:
glm(formula = y ~ x, family = poisson, data = d)
Deviance Residuals:
Min 1Q Median 3Q Max
-2.368 -0.735 -0.177 0.699 2.376
Coefficients:
Estimate Std. Error z value Pr(>|z|)
(Intercept)  1.2917 0.3637 3.55 0.00038
X 0.0757 0.0356 2.13 0.03358
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glm() 00000

> d

y x f
1 6 8.31 C
2 6 9.44 C
3 6 9.50 C
...0o0oo...
99 7 10.86 T
100 9 9.97

oooo!
data = d, family = poisson)

> fit <- glm(y ~ x,
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glm() OOOOO

> fit <- glm(y ~ x, data = d, family = poisson)

all: glm(formula = y ~ x, family = poisson, data = d)
Coefficients:

(Intercept) x

1.2917 0.0757

Degrees of Freedom: 99 Total (i.e. Null); 98 Residual

Null Deviance: 89.5

Residual Deviance: 85 AIC: 475
kubostat2017c (http://goo 000000000 2017 (c) 2019-07-22 34 /45

0000000000000 (mooooooooon)

Bo (Estimate 0.0757, SE 0.0356)
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> fit <- glm(y ~ x, data = d, family = poisson)

Coefficients:

(Intercept) x
1.2917 0.0757

> plot(d$x, d$y, pch = c(21, 19)[d$f]) # data
> xp <- seq(min(d$x), max(d$x), length = 166>

> lines(xp, exp(1.2917 + 0.0757 x xp)) ]
000000000000000 3.
000000000000 o
7 T T T T T
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d$x
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e £,000000
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> plot(d$x, d$y, pch = c(21, 19)[d$f]) # data
> xp <- seq(min(d$x), max(d$x), length = 100)
> lines(xp, exp(1.2631 + 0.0801 * xp), col = "blue",
> lines(xp, exp(1.2631 + 0.0801 * xp - 0.032), col =

lud = 3) # C
"red", lwd = 3) # T
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glm(y ~x + £, ...) 00OO

> summary(glm(y ~ x + f, data = d, family = poisson))
(@)

Coefficients:

Estimate Std. Error z value Pr(>|z|)

(Intercept) 1.2631 0.3696 3.42 0.00063

X 0.0801 0.0370 2.16 0.03062

fT -0.0320 0.0744 -0.43 0.66703

...... @moooaa) ...
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e fi=C: )\ =exp(1.26 4 0.0801z;)
o fi=T: )\ = exp(1.26 + 0.0801z; — 0.032)
= exp(1.26 + 0.0801z;) X exp(—0.032)
. 0000000 exp(—0.032) O
ey ooooooooooo!
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